
ME 1020 Engineering Programming with MATLAB 

Problem 8.9: 

 



 

Problem setup: 

(3)𝑇1 + (−1)𝑇2 + (−1)𝑇3 + (0)𝑇4 = 𝑇𝑎 

(
1

2
) 𝑇1 + (−1)𝑇2 + (0)𝑇3 + (

1

2
) 𝑇4 = 0 



(
1

2
) 𝑇1 + (0)𝑇2 + (−1)𝑇3 + (

1

2
) 𝑇4 = 0 

(0)𝑇1 + (1)𝑇2 + (1)𝑇3 + (−3)𝑇4 = −𝑇𝑏 

𝑥𝑇 = [𝑇1   𝑇2   𝑇3   𝑇4] 

𝑇𝑎 = 150;   𝑇𝑏 = 20 

% Problem 8.9 

clear 

clc 

disp('Problem 8.9: Scott Thomas') 

 

Ta = 150; 

Tb = 20; 

 

A = [ 3.0   -1.0   -1.0    0.0; ... 

      0.5   -1.0    0.0    0.5; ... 

      0.5    0.0   -1.0    0.5;... 

      0.0    1.0    1.0   -3.0] 

b = [Ta; 0; 0; -Tb] 

 

%x = inv(A)*b 

x = A\b 

Problem 8.9: Scott Thomas 

 

A = 

 

   3.0000e+00  -1.0000e+00  -1.0000e+00            0 

   5.0000e-01  -1.0000e+00            0   5.0000e-01 

   5.0000e-01            0  -1.0000e+00   5.0000e-01 

            0   1.0000e+00   1.0000e+00  -3.0000e+00 

 

 

b = 

 

   150 

     0 

     0 

   -20 

 

 

x = 

 

   1.0667e+02 

   8.5000e+01 

   8.5000e+01 

   6.3333e+01 

 


